HHTT(Q019)EE KEHE %K HaKI2KE) OKEOKEFAKEHRER)

[BExEH4A] [(BXEH4A] [BxEH4]
29 - 501 Z£=RE 29 - 501 Z£RE -
=RE =RE
[#Ki;H4&] 01 - 00 [§Kiz&] 02 - 00 [%Ki54]
R KE taHiBKE
BEIEH [KiR&] [KiE&] [kiFE&]
eSO ENIKREEHS L
[FkDFE$E] [FRKDFELE] Rk DFEEE]
EIN it HLEE
[1BFEHKE] 149,713 (m) |[1 B 4% KE] 81,552 (m) |[1 B % KE] ()
HIKGRKEKE) HIKERKEKE)
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik
PUOFEVRUZVILEY <0.0010  <0.0010  <0.0010 4 <0.0010  <0.0010  <0.0010 4
ISVRUEDIEEY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4
29TV RUZDIEEH <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
1,2—9HOAIaY <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001 <0.0001 4
LTy <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
TRIVEES 2—TIFIAFII) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
HIERE <0.01 <0.01 <0.01 4 <0.01 <0.01 <0.01 4
ZEEiER
ybonre b= <0.001 <0.001 <0.001 24 0002  <0.001 0.001 24
fkoo3-Ib 0.004 0.001 0.002 24 0.005 0.001 0.003 24
REE * <0.01 <0.01 <0.01 12 |* <0.01 <0.01 <0.01 33
HREBIER 0.8 0.7 0.7 12 0.7 0.5 0.7 12
SR * 28 1.9 2.3 4 |* 7.2 4.3 5.5 4
1,1,1—tyhonI4ay <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
AFI—t—=FFII—FI (MTBE) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
AMEGBIVH VBN LEEE) * 0.7 05 0.6 12 |* 1.8 1.3 1.6 12
R SR5&E (TON) * 2 2 2 4 | 2 2 2 12
BRI GYTUTES) -1.1 -1.2 -12 4 -1.4 -15 -14 4
HEREEMR 0 0 0 4 0 0 0 4
1,1—9HOAIFLY <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001 <0.0001 4
KR (°C) 223 109 16.6 12 24.6 93 16.5 12
TPUEZTREER
EMILFRIBREREBOD)
L2 HEERERE(COD)
FIMRUVIBR S E(50mmt) L1 FREF) * 0.041 0.014 0.024 51 |* 0.103 0.060 0.075 51
FEYE(SS)
BRI R
2EX
DV
VVEEATY
WA PEVES -
£ (n/ml)
FIVHIE 385 285 34.2 12 46.0 30.5 418 12
BEBRE
REsAAY * 13.0 44 8.9 51 |* 9.8 6.4 8.7 51
BT R

-k(F . HEKIEEOKDT—RTT,



